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A& &2t 38,457,441 31,340,737 7,116,704
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Hol2 23 M2(SZ/HDI2) 38,286,654 31,169,950 7,116,704
= 34,600 9,200 25,400
s 780,000 780,000 0
& 874,532 161,360 713,172
Al 36,597,522 30,219,390 6,378,132
JHRst CAISE X4 21,122,667 15,455,600 5,667,067
ax 780,000 780,000 0
& 201,000 156,000 45,000
Al 20,141,667 14,519,600 5,622,067
HOI2Xel 22| - &= 600,430 373,463 226,967
201 Let23H| 172,300 22,300 150,000
01 A=R2teld| 171,300 21,300 150,000
Ogdet=gH| 150,000 0 150,000
ocDIAYM SHET| HIIZ 23Kl
30,000,000 14! 30,000 0 30,000
oM MEel YXIHIIZ Xl
120,000,000 * 14 120,000 0 120,000
301 LEtENZ 390,845 313,878 76,967
14 J|EtE A2 390,845 313,878 76,967
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MEHD|E =8 - 28 & II2EA 17,982,914 12,587,814 5,395,100
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= 7,600 2,000 5,600
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Al 11,200 1,440 9,760
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2 6,000 7,200 A1,200
= 2,800 3,360 560
Al 11,200 1,440 9,760
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Al 1,200 1,440 9,760
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= 21,000 0 21,000
Al 21,000 0 21,000
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Al 817,730 817,730 0
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= 95,000 0 95,000
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